IMPORTANT ! PLEASE KEEP THESE
INSTRUCTIONS FOR FUTURE REFERENCE

John Lewis Morgan Bunkbed Stock Code : 803/67801

Thank you for purchasing this Morgan Bunkbed.
Please read the instructions carefully before use to ensure safe and
satisfactory operation of this product.

For product support or spare parts
please call the John Lewis helpline:

Tel: 01244 689949
Email: mail@fwgroup-uk.com

Pre-assembly preparation

Please ensure instructions are read in full before attempting to assemble this product.

Necessary Tools

b

Please check the pack contents before attempting to assemble this product. A full checklist of
components is given in this leaflet. If any components are missing, please contact the John Lewis
helpline.

This product is HEAVY. It should be assembled as near as possible to the point of use. TAKE CARE
WHEN LIFTING to avoid personal injury and (or) damage to the product.

This product should take approximately 90 MINUTES to assemble with 2 PEOPLE.
The fittings pack contains SMALL ITEMS which should be KEPT AWAY FROM YOUNG CHILDREN.
Read this leaflet in full before commencing assembly.

If you require any additional information or have any issues with this product please call the
John Lewis helpline on 01244 689949 or email: mail@fwgroup-uk.com

111



IMPORTANT ! PLEASE KEEP THESE
INSTRUCTIONS FOR FUTURE REFERENCE

Key diagram.

(2
M.?// A
\

\
)
\ 1
\ |
\ ]/
o.» \
s 0 \ \

2/11



IMPORTANT ! PLEASE KEEP THESE
INSTRUCTIONS FOR FUTURE REFERENCE

Fittings

@1 pc. - Allen Key - 4mm

%

(©)33 pcs. - Dowel @ 10 x 40mm

S

(®B) 22 pes. - Bolt M6 x 90mm
—

@22 pcs. - Barrel Nut - M6 x 13mm
§

@68 pcs. - Screw @4 x 30mm

mmmw

m‘\

@6 pcs. - Screw @4 x 40mm

@4 pcs. - Dowel @10 x 50mm

@ Headboard upper, left
-1pc

878 x 986mm

d
o
o
o
o
o
o
o

@ Footboard upper, right
-1pc

I @ Headboard

- 2pcs

820 x 986 mm

Y

70 x 1460mm

740 x 986 mm

@Side rail - 2pcs

@ Side rail - 2pcs

(6) Side panel, upper, long
-1pc

@ Side panel, lower, long
- 1pc

Side panel, upper, short
- 1pc

Side panel, lower,
short - 1pc

Please note position
of Mattress Level Mark

PR

P

@ Step ladder
- 4pcs

Vertical support rail

c - 2pcs
el 43 -2»
o
oo ———+# 3
60 x 352mm x
g
Side right, @
ladder > Side left,
-1pc ladder
-1pc
€ | oo
S
8
% [oe
RLY

3/11




IMPORTANT ! PLEASE KEEP THESE
INSTRUCTIONS FOR FUTURE REFERENCE

Cx33 4

Assemble on
Soft Surface

5]

4/11



IMPORTANT ! PLEASE KEEP THESE
INSTRUCTIONS FOR FUTURE REFERENCE

3

Bx4

1 A©
©)

®

) Please Note: Part @ attaches to the Ladder 4

5/11



IMPORTANT ! PLEASE KEEP THESE
INSTRUCTIONS FOR FUTURE REFERENCE

6/11



IMPORTANT ! PLEASE KEEP THESE
INSTRUCTIONS FOR FUTURE REFERENCE

7 "

Hx4




N_/7 \\\\ﬂ/

\C LI\
N
CRA SN
AT \N
N\ RN\
TR
AN

NN\
R\ RN

[¢]

Please note:
End Slats MUST be screwed as close

to the bunk' s Head & Foot as possible

\
/

@)

)

8/11

J/

IMPORTANT ! PLEASE KEEP THESE
INSTRUCTIONS FOR FUTURE REFERENCE

9
10
}f




IMPORTANT ! PLEASE KEEP THESE
INSTRUCTIONS FOR FUTURE REFERENCE

11

Bx2
Dx2
Ex4

%

<
@ ’ )
i
gy,
g0

9/11



IMPORTANT ! PLEASE KEEP THESE
INSTRUCTIONS FOR FUTURE REFERENCE

12

4

PLEASE NOTE

/ The top of the mattress MUST NOT exceed

o this marking
//

(Max. height 17cm)

10/11



Care and Maintenance

This Morgan bunk bed should be cleaned by dusting with a dry cloth.

Never drag furniture when moving it. Always lift it.

Do not drag any object across the bed as this can cause permanent damage.

Periodically check all fixings to ensure none have come loose and re-tighten when necessary.

Please take care when handling or moving the furniture as careless handling may cause damage or
injury.

Furniture can be dangerous if incorrectly installed. Any assembly should be carried out by a competent
adult.

No liability will be accepted for damage or injury caused by incorrectly installed or assembled furniture.
During assembly, children should be kept away from the product due to possible risk of injury.

It is recommended that care is taken when moving heavy objects to a new location to avoid personal
injury or damage to the furniture. Please be careful to retain all fittings when doing this.

Safety Instructions

General warnings:

All assembly fastenings should always be tightened properly and care should be taken that no
fittings are loose.

The maximum thickness of the mattresses should not be more than 17cm and the upper surface of
the mattress should not be more than the mattress maximum thickness marking.

WARNING: Do not use the bunk bed if any structural part is broken or missing.

WARNING: Children can become trapped between the bed and the wall, a roof pitch, the ceiling,
adjoining pieces of furniture (e.g. cupboards) and the like. To avoid risk of serious injury the distance
between the top safety barrier and the adjoining structure shall not exceed 75mm or shall be more
than 230mm.

WARNING: High beds and the upper bed of bunk beds are not suitable for children under six
years due to the risk of injury from falls.

WARNING: Bunk beds and high beds can present a serious risk of injury from strangulation if not
used correctly. Never attach or hang items to any part of the bunk bed that are not designed to be used
with the bed, for example, but not limited to, ropes, strings, cords, hooks, belts and bags.

Always follow the manufacturer’s instructions.

Ventilation of the room is necessary in order to keep the humidity low and to prevent mould in and
around the bed.

This product complies with BS EN 747-1+2:2012+A1:2015.

This bed is for use with a standard single size mattress L190 x W90 x H17.

If you require any additional information or have any issues with this product please call the
John Lewis Helpline on 01244 689949 or email mail@fwgroup-uk.com.

John Lewis Partnership 171 Victoria Street London SW1E 5NN
www.johnlewis.com

11/11



